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The ratio of the length to the width of a
2 rectangle is 3:2. If the length of this
3 = %, rectangle is increased by 25% and its
345 2 Lwidth is kept constant, then the area of
—’?-S"n. the rectangle increases by 24 m2. What is

the width of this rectangle?

%,‘r. |6 TF AT il A8 3L DISIS T FAqITad 3:2 8 1 2
T AT T AGTS 25% o7 &1 ATT S Tqhr A1STS

‘)l"7‘1 U< TEt ST, 7 AT FT TR 24 H2Ig ATaAT 8
{ | 39 AT AISTS Fhadl g2
1—58 (a) 15m W) 8 m
(c) 12 m (d) 10 m
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A square of side p is taken. A rectangular
is cut out from this square such that the
length of one side of the rectangle is
equal to the half of length of one side of

the square and the length of another side
1

of the rectangle is equal to the — of the

ﬂ 3
length of théfirst sidgi of the rectangle.
What is the area of the portion o e

square that remained after the rectangle
is cut out?

ST p FT TF 0 (AT AT | 39 O 8 T AT 39
YT FTET 1T g T e & T T & dars, a9
#Y TF oI it et AQTE F IO gt g ST AAq
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A large solid cube is melted and cast into
‘N’ small solid spheres, each of radius 3

cm and ‘N+2’ small solid cubqids, each of
dimensions 4 cm X4 cm %X 6.5 cm. If the

length of each side of the large solid cube
is 12 cm, then find the wvalue of ‘N’.

[Use:n:=22/7]

TF 92 39§ & e N’ e 39 TS 94F
B4 3 A 3T N+2’ & 319 94T, TAF AT
4cm x4 cm x 6.5 cm ¥ AT AT ¢ | IR T
S 9 il TcqT HOIT ot wars 12 GHT g, ar ‘N’ &7
w1 S g | [r=22/7]

7 (b) 8

(c) 5 (d) 6
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A goldsmith uses 110 cm?® of gold to
make a wire 1 mm in diameter. He will

2 0 <
'hﬁs‘e l e 'H'U use this wire to make gold chains of
— A\ oo equal lengths. If each chain requires 56
¢ cm length of wire, then how many gold

'V\ —';"9\5 chains can he make?[Useﬂ‘ - 22/7]
—QSQ TF X 1 Feft =3 & a1 a9 F g 110
AHYS T FT START FAT § | T8 T AT HT T

JUEL AT T i & St g9 & Ha | gie
—-é—"-—-s TAF ST D 56 T AT, & qTC Y AFTFAT §

FOMOD & = At @ & e @ ww 22

[n=22/7]

¢ (a) 160 W 250 @-)
=n () 320 () 210




In a camp, there are tents of the same
shape and size. Each tent is cylindrical
up to a height of 4 m and conical above
~ it. The diameter of the bases of the cone
and cylinder both are 10.5 m and the
slant height of the conical part is 10 m.
If the total of 3861 m? canvas is used in
making all the tents, then how many
tents are there in the camp?

[Usen=22/7]

TF §7 § TF gl AFR & T4 ¢ | TAF a9 4 HeX
F FATS TH TAATHIC AT Iq% FIC GFHIHT ¢ |




F AT 49 T & ATETA F7 ATH 10.5 HeX g

3T FFTRIT AT it fACeht S48 10 HieX g | TR
gt g 99 H T 3861 FA HieT FAATH F

ST T AT g ar e § fFae 9 2°

(a) 19 (b) 7
) 13 (d) 11







The base of a triangle is equal to the
perimeter of a square whose _diagonal is

e ———

7J2 cm and its height is equal to the side

of a square whose area is 169 cm?2. The
h

area (in cm?) of the triangle is:

v e &1 IR 72 & Rt @ o
g & IRAT F TR § 3R 3TH I 169
A2 QA% aTe TH T AT HT F S ¢
B #1 aawe ([H2 A) &

(a) 156
(b) 175
(c) 130

SSC CHSL 06/08/2021 (Shift- 2)




The circumference of a circle is 'ant’' units
and the area of the circle is 'bnt’' square
units. If a : b is equal to 4 : 5, then the
radius of the circle is:

UH gd $I IRIY 'an’ §H1§ § AN I FT &G
brt’ T FHS &1 I a: b, 4:5F W ¢,
ar ga 1 B

(a) 2 cm
(b) S cm
(c) 3 cm

U 2.5 cm
@ SSC CHSL 06/08/2021 (Shift- 3)




The area of the largest triangle that can
be inscribed in a semi-circle of radius 6
cm is:

6 cm ST g & Id-gd A & FHFA Al

Fad a8 fpe dawa fraa g
(a) 35 cm? =

(b) 34 cm? |

(c) 38 cm?

(d) 36 cm?
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Two circular football grounds of radius
42 m and 35 m are to be replaced with a

r N | bigger circular ground. What would be
Q - 3 =\ the radius of this new ground if the new
| ‘ ground has the same area as the sum of

Pe] = the two small grounds?

s 9 42m 3R 35m BT a1 & JEER PeaAd F
L DS

Aql # UF T3 JAER Pedld & Aqe H
L._,___ @M&%gmmm%lﬂﬁmﬂmmﬂmaﬁ

el Yoy (3555 m O & ewer & A & ave ¥ A g
L"""‘37< (ﬁ&gmm AT Ao 1 B F4r g
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The area of a triangular field whose sides
are 65 m, 72 m and 97 m is equal to the
area of a rectangular park whose sides

R'fl’ . are in the ratio of S : 13. What is the
A x ~— %E meter (in m) of the rectangular park?
Henom AT FT A5 fSWHT $STT 65

—Mﬁ%/ é{ T A, 72:hu3ﬂ197:ﬁa3‘,w3mm
9% F a%d F el ¢ SEd qae 5:13
& IHeTqTd H g1 HIATHR 9TH HT IRAT (FHeX

3‘“"““""“ O os “&
(b) 180 W

) 216 69

(d) 144 SEIRG:1F 19/04 /2021 (Shift- 1




From a rectangular sheet of dimensions
32 cm x 18 cm, a square of side 3.cm is

cut from the four corners of the sheet
%2 | and a box is made. The volume of the box

o | 18

32 §HT x 18 AT HATH dqrell TH ATIAATHR
IeY A, eI F IRI FAl & 3 JAT o1 FI
2 & J7 FTeT IATdT g 3N UF 7 ST ST

AORMXS _yrs00-em?

@ Zé’a(\é ¥6) 946 cm’ \

—d} 1305 cm®
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2 r\/'\
\\'RQ\QJQR ' —|) If the volume of a sphere is 697211-

—II
cm?, then its radius is? (1 =22/ 7)

; ﬁnﬁwﬂﬁaﬂma:reg'f%

3 _%(RZ:NG | @R swh Bsm gefr? (n=22/7)
.5 cm
SR

RE__ -l-‘{‘é"Tr- (c) 4.5 cm M*&%







What is the volume of the largest right
circular cone that can be cut out from a
cube whose edge is 10 cm?

10 AT FaR e g9 § HIC AT Ahad dTel
HeH 93 99 qug AF FT AAAA T §?
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The total surface area of a sold
hemisphere is 16632 cm?, Its volume is

TH 31 ey F §YOT IO &A% 16632

qHR2 g A AT HfAT?
;?gz cm?2

w 2 cm?
140232 cm?

q(() 145232 cm?
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(a) 34.68 cm
V(-b] 10.68 cm

(c) 16.68 cm
(d) 12.68 cm

15 identical solid spherical balls of
radius S cm are melted to form a single
sphere. In this process, 35% of the mass

is wasted. What is the radius (in cm) of
the single sphere that is now formed?
[Use n=22/7, and give your answer
correct to two decimal places.]

5 ¥t B=ar i 15 v Al AT MAHR gl
' Ruasy ve T3 MNar 99417 AT g1 3
yfhaT & 35% oW «4lg & orar g1 AfFa a3
M A B @A A) Ta fifew) (SeHEET
¥ & TUT dF AT AT )
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The sum of the length, breadth and
depth of a cuboid is 23 cm, and its

C j‘f"?‘}‘ﬂ:‘ QS diagonal is 5.7cm. W is?

o e A oS, dsrs 3R TEs &1 A
QZ%Q' 2&-_]45 23 ¥#Y 8, 3R swe R@wor 57 dA §1 @
|ag &7 g?

1 2
B3—Hs = Mol 155 o

b) 188 cm?
Ad) 354 cm? Q b
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Find the volume of the cylinder
circumscribing a sphere with a diameter
of 14 cm.

14 QA <1 qrel T Mol F IRITT dofad &7

WITT AT FL?
(a) 2158 cm3

Y2156 cm?

(c) 2157 cm?
(d) 2155 cm?
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The radius of a roller is 14 cm and its
length 20 cm. It takes 235 compete
revolutions to move once over to level a
playground. Find the area of the
playground?

& Ve A B 14 ) 3R s@dr 9§ 20
JAT 81 TF @ & HGIT P FATA I & AT
g0+ 235 TUT TFHT o9rd g1 @l & Hgred HI

Seprieiciiciall  CHSL 2021

darl/ 136 x 10°cm’

(b) 4136cm?
(c) 4136 x10°cm”
(d) 41360cm?



The rectangular piece of paper is 52 cm

long and 18 cm wide. A cylinder is

__5 8 formed by rolling the paper along its

@ ~ “breadth. Find the volume of the
S2 2

cylinder?
= FETST HT HAATHR THST 52 [AT FaT 3R 18

i

2 Ush doledd ST SATAT g1 dddd & AAdd AT
fae?

:%( Ia)?l.qu' (a) 1030 cm? (C : )
b) 2002 cm?

— ‘ZLL){X%\‘ \_,:9:‘1290 cms

e _%1&'63 _ (d) 1870 cm3
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The diameter of the base of a right
circular cylinder is 12 cm and the height
of the cylinder is 2.45 times the radius
of its base. Find the curved surface area
of the cylinder.

TS dF JAIg 9ol F AUR FT I 12 FH!

g 3R S A FEE 3TF IUR H B A
2.45=;m§|m$raaﬂ[r&ﬂmm

HITAT?

(a) 552.4 cm? &
(b) 554.4 cm2\_—
(c) 544.4 cm?2

(d) 556.4 cm?2 A
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- To pack a set of books, Gautam got
]#"" R cartons of a certain height that were 48
inches long and 27 inches wide. If the

e\ %Kﬂﬂiﬁl 9 volume of such a carton was 22.5 cubic

o feet, what was the height of each carton?

%)ca: TFdHl & TH dC & 36 4 & fav, ataw
_9- vF fARaa 39 & Fca o1 S 48 59 o«
IR 27 3T 493 9 I W@ FEa F IAAA
22.5 a1 BT (FfaF $e) 91, d TqF FeA

@aﬁrﬁéwaﬂ?

(a) 36 inch (c) 32 inch
¥ 30 inch (d) 32.5 inch

81'330



A sphere passes through the eight
corners of a cube of side 14 cm. Find the
volume (in cm?3) of the sphere?

T A, 14 FAT §{T a1 G F S Al @
I ISt ¢l el FT WIS AT FY (AT 3

# -

(a) 40123 & %9’('{(‘ I3

(b) 43123v" = ||

(c) 40122 o _

(d) 43122 a< @
CHSL 2021
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A solid right-circular cylinder, whose
radius of the base is 15 cm and height is
12 cm, is melted and moulded into the
solid right-circular cone, whose radius of
the base is 24 cm. what will be the height
of this cone?

TF 3 oFd guig dad, Gad 3R A B
15 @ 3 39 12 I+ §, F RNga =
S FF gl UF F HR A greT ST g,
o 3mur A Bear 24 @ B 5w 9T M}
SU[S FIT grei? :
) 14.0625 cm St~z Q
(b) 14.0525 cm @ \6 -;,-0("
(c) 14.0675 cm

(d) 14.6025 cm




After melting three cubes of sides 6 cm,

8 cm and 10 cm, a big cube is made. Find
the side of the new cube.

M2 6 @, 8 Wit AR 10 A sy T M A

S
%)M
F NI UF 937 U 91471 1T g1 0 "
q HT AT AT HifSC ?
(a) 24 cm
( \L

% \b (b) 25 cm
(c) 13 cm

d
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Find the volume of a solid hemisphere
whose radius is 6.3 cm.

U U 3 NS FT JIdT AT hIfAT

foradr s 6.3 aHY §?
___2_)(_2_._?:_-7( w (a) 823.908 cm? Y

£ ) . (b) 523.908 cm?3
] (c) 623.908 cm3 w

(d) 723.908 cmy

/P‘ CHSL 2021
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Calculate the area of the shaded region
in the following diagram?

fArafof@a 3INE 7 oafed 89 F 896 Y
AOTAT HI?P

3cm

(a) 48 cm?

(d) 50 cm?



